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MATH MATICS By Pradeep Sir

Q. 1) Find the value of the given expression: u seie

& &5k 4 _s ST |9 19 BT
10+5x1+3-[8-(5-(7-7-9)}]
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Q. 2) Solve the following expression.
Fafafea aere &1 9= 31a S
50-[20+ [30- (25-5)}] -

(a) 1()\)! 6 o0

i So0-30 =20

-

(d) 40
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Q. 3) The monthly income of a person was Rs. 12000 and
his monthly expenditure was Rs. 8000. Next year, his
income increased by 10% and his expenditure by 8%.
Find the percentage increase in his savi

In Ex < wmfa‘«aﬁmﬁm«mau,ooozﬁnﬁimm
g F. 8,000 UT| 3TA ¥ IHP! I H 10% 3R IHP Y
H 8% @1 gfx 85| SUP! 99a # wia=rd gl y1d PifC|
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— (b) 14%
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Q. 4) A sold an article to B at 25% profit and B further
sold it to C by earning a certain profit. If the cost price of
C is 30% more than the cost price of A, then find the

profit percentage earned by B.
A#waﬁsgﬁzmmwﬁaﬁ?aﬁwﬁféﬂm
aﬂamﬁgqs@caﬁéa%m%mmu%gA$
%Y Yed | 30% 3@ 8, af B gRI T EIG]
311 I —

(a) 5.5%

© 5% A B <

(d) 4.5% ~ iy
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Q. 6) At simple interest a sum of Rs. 6400 becomes Rs.
8320 in 3 years. What will Rs. 7200 become in 5 years at

the same rate?

i = N ATYRUT &7 U3 3. 6,400 & 71 3 a6T & &. 8,320 B St
A P S1 21 S R W 5 ad # ¥.7,200 P} 7y fFat
¢ (a) Rs. 10200 I
B0 TTC Ivae
(d) Rs. 10400 Q200 4 1204 1#xE
—
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Q. 7) The weights (in kg) of five girls of a class are 49, 42,
61, 55 and 58. What is the average weight (in kg) of

these five girls?
was&nagma'sf%u‘fmm (kg ) 49, 42, 61, 55 3R

3 2| 29 U wefdal BT 3Hd a9 (kg H) F1d B
(b) 54 °

(c) 51

(d) 52
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Q. 8) If A and B together can do a piece of work in 20
days, and A alone can do the same work in 30 days, then

in_ how many days can B alone complete the same work?
OO oo 4 o neloa ou by Eodaded o ol
B PTH D1 30 DY P dl 5,
3+ A+8 = 203 m:ﬂﬁmaﬁwmﬁﬁﬁmﬁ%aﬁﬂ? &
(a) 45

Jaaaes 2 ROx -
(d) 50
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Q. 9) A worker completes 3/5 of a work in 12 days. In
how many daﬁs will he complete 3/4 of the work?

U 40 12 I3 # U &1 &1 3/5 YN [T T gl 98
a?rzfm.’.mzrmﬁ?a’—’rf%a’fﬁtmaérm -

(a) 18

(b) 20

c) 16 Y
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Q. 10) A works 3.5 times as fast as B, and A takes 45 days
less than B to complete a job when each works alone.

Calculate the number of days taken to complete the
same job if A and B work together.

A, B ¥ 3.5 T[T duit ¥ &4 &1 8, 3R A fosft &ad &t @@
H31 H B ¥ 45 37 0 da1 3, 99 U APA B Bl
21 afe A 3R B TP HIY 1 HYd ¢ ol IA B B @A
H1 # T ara &A1 1 F@n 319 S|
(a) 10.5
(b) 17.5
r@ie ] = 26
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Q. 13) Raghav covers a distance of 3300 m in 45 minutes
What is his speed (in km/hr)?

MU 45 th'%?ﬁ 3300m ®I G TG HXAT ¢ IWD] AT
(km/h ) F4T
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L4
(‘11 Y)= 114-‘1-} 2% a‘

9o L
(1>°- xz4a:.+ 2319
Mg = xt4y24 28

Q.14)2fx +y =7 and xy = 19, then calculate the value
of x* + y?

gfe x + y = 7 3R xy 19 8, @ x? + y? BT HIH F1d B

(a) 17
(b) 12

e
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Q. 16) f(a+b+c)=12and (ab + bc + ca) = 47, find
the value of (a® + b3 + ¢ — 3abc)

ﬂﬁ(a+b+c)=lzm(ab+bc+ca)=47%,ﬁ(a3
2,,2, .2 .
a+b4c > + b3 + ¢3 — 3abc ) BT HIF FTd DT

) 24
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Q. 17) If secA + tanA = 3, then cos A is equal to:
gfe secA + tanA = 3%,?ﬁcos Aﬁﬂﬁ"m%‘l
(a) 4/3

(JETL
(d) 5/3

S€c A + tanA I X
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Sto +cestm= |
I+Colto Corecto
Codecton-Cotd =)
14 tento = S0 k0
Sec?® — tawto =

I- S = Geso
Siwie 4+ ce1dp.s |

Q. 18) Which of the following options is NOT a correct
trigonometric identity?

7 q o faeeg el Beufada
U

(a) 1 + cot? @ = cosec? @
(b) 1 + tan? 0 = sec? 0 Lt
Eend ) e 2

: ’
(d) cos? 8 —sin“8 =1




MATH MATICS By Pradeep Sir

Q. 19) What is the value of sec? 8 — cot*(90° - 0) ?
sec? @ — cot*(90° - 0) WTTF{W% ?
3) 2 —3
(c) -1 ?
A0 Sec®d - {onln =

— 4
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Q. 20) In the given figure, diameter AB and chord CD of a
circle meet at P. PT is a tangent to be circleat T. IfCD = 8
cm PD = 10 cm and PB = 8 cm, Find AB.

.:5 U® g9 ®T &9 AB 3R o4l €D, P W
g1 PT, quaaﬁwszf’\fm%mﬁco 8 cm, PD =

i
@ t4sam

(b) 22.5 cm
(c) 12 cm
(d) 8 cm

PAxpg = PCXP >

S

o PA 2 22§
PAx 8= | 8x to

Paz= d° _ o AB= 21s-8= |‘_-S‘ c™M Ava
—a 22§ I

b —
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Q. 21) In the given figure, a circle is inscribed in APQR,

such that it touches the sides PQ, QR and RP at points D,

E F respectively. If the length of the sides PQ = 18 cm,
= 13 cm and RP = 15 cm, then find the Iength of PD.

Eﬁ"?sr@f?fﬁw APQR ¥ 39 WP tfFag
w9 fag D, E, qua 3if PQ, QR 3MX RP &I WX H T

%l aﬁa?ﬂ PQ = 18 cm, QR = 13 cm 3T RP =
ol ’ m |
i
(b) 8 cm
(c) 15cm
(d) 12 cm
PRz IS-x4+18-x = 17
.
A ¥z
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Q. 22) In the given figure, AQPS = ASRQ. Find the
measure of 4PSR. .

&t ¢ ampfa §, aQPs = askq &1 PSR &1 71T 31d B

(a) 64 - T

C

(d) 82

Z
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C'«Loi&v) s Leby h
eInrm Vg

Cvhe v a3
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X8 yt6=xq3
a3 - 83

Q. 23) The volume of a cuboid is twice that of a cube. If
the dimensions of the cuboid are (8 mx8mx16 m), the

total surface area of the cube
TP UM BT ATGG U9 & H19a BT GR[AT 81 afe g

o1 fIATE (8 m x 8m x 16m) §, T U= &1 ¥qul y¥iy %

RIGE S
(a) 316 m?
b) 288 m?
c) 324 m LsAaz= ¢gat
3 Cx8x @
=64x6
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Q. 24) The following figure shows the percentage growth
in units of fans and coolers sold in some years. What is

the different between the averages of the growth rate in
coolers and fans?

O e 1 ute 41 TS o 9
$ 3MHd H fHaar 3ar

(b) 30
(c) 32
(d) 42
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Q. 25) What is the difference between the total
production of cotton and Khadi? .
HUTH AR Gl & Fd IAGH & 7 fFaar v 82

Note: Ignore negative sign, if any

feooht: Buomere Re WA A ¢, gt g R, @t

(a) 10

91 W fie-2




